a(0 @) (raqd)

1072zt

Ratio

SICEWATL

owp./p,)

Ratio

=
<

=
I
S

iy
TITT[ T TTTI T
s
o
o
=

1.2

iy

4] b i Fosts e - - -

0g

-1

o 1 2 3

TP n (PCA to beamline)

obal m I
M_V0001~R000000001_Global —mKFitN —
M_V0001~R000000001_Global_mkFitNewDett33_ RECO
M_V0001_R000000001__Global

riginal

a(d cot(d))

107}

Ratio

1 1
0.9f 1 -]
0.8f- -F

E I

2 -1 0 1 2 3
TP n (PCA to beamline)

—RECO
ewDett__RECO

mkFitNewDetNoF _ RECO

Ht

33 ,‘mn:‘-:r, : »:rm‘
1 -t } ik
HIK LN 1

-1

0 1 2 3
TP n (PCA to beamline)

1
Tab---- R -
O T T s T

0.g!

TP n (PCA to beamline)

oloa,) (cm)

1
o2k i AL VULV LUBILU ]G],
- l I ...
1_ """ |t #T 1
0.9 ----HATHETTEH- T4 - UL
oy : | | LN i
=3 -2 -1 0 1 2 3

TP n (PCA to beamline)



	Contents
	Page 1


